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1. (A)

Answers may be written either in Enghsh or in Hin i; but the same medlum should be

used throughout the paper.
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Answer any three questions from Part A

and any fwo questions from Pari B.
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Consider the population of a city and the relations :

(@) “At least as tall as” (as in “A is at least os tall as B”)

. ()  “Strictly taller tﬁan"

(€)  “Inlove with”

Are these relations reflexive ? Are they transitive ? Are they complete ? 7
o | | | P.T.O.
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Rohit’s utility function is u(x;; x,) = 2 (In x}) + x;. Given his current income and
the current relative prices, he consumes 10 units of x; and 15 units of x,. If his

income doubles, while prices stay constant, how many units of x; will he consumer

after the change in ncome ? 5

Does utility function 7 = -1 satisty the properties of diminishing marginal rate of

xy

substitution and “more is better” ?
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With a phone service, a consumer is offered a choice of two or more pay.mentl plans.
One can either pay a high “entry fee” and geta lqw price per unit of service or pay
a low entry fee and a high price per unit of service. Suppqse you have an income
of Rs. 100. Thgre are two plans. Plan A hés an entry Afee of R,s; 20 with a price '
of Rs. 2 per unit. Plan B has an entry fee of Rs. 40 with a price of Rs. 1 per unit
for using 'thg service. Let x be expenditure on other goods and y_-be. consumption of
the sewicg;
(a) Write dowh the budget equation that you would have after you: paid ihé entry |
fee for each of the vtwd plans |
(b) | If your utility function _is u (x, ¥) = xy, how. much y would you choose in each
case ?

() Which plan would you-prefer ? Explain. o 6

If Amy spent her entire allowance, she could afford 8 candy bars and 8 comic
books a week. She could also just afford 10 candy bars and 4 comic books a week.

The price of a candy bar. is 50 paisa o ' 5
(a) " Draw Amy’s buciget line. | |

(bj : What is the price of a con;ic bo;)k ?

(¢ Wh?l.t is Amy’s weekiy allowance ?

P.TO.
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An individual has wealth worth Rs.‘ 500 and faces a gambl¢ with 60 percent
probability of winning:s -Rs. 100 and 40 percent prébé‘bilitj) of losing Rs. 100. -Thé
pcr'so'n"decides .to go 1;"or the gamble. Can you ﬁﬁd out whether he is a risk averse

or risk lover ? 4
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Rhoda takes a job with a construction company. Wage rate is $5. Rhoda has 70

hours a week available to divided between‘constructéo_n work and leisure. She has no.

othe_r soﬁrqe of incohie, and her utility function is u(é, () = cr, where ¢ is her income
to épgnd on goods and r lS the number of hours of leisure that she has per week.
She ’is allowed to work as many hours as she wants .to.. How many hours will she
work ? If she eéms $5 an hour fdr the ﬁrst‘40 hours of each week and then gets

“double-time” for overtime. That is, she is paid $ 10 an hour for every hour beyond

40 hours a week that she works. How many hours will she work now ? 8
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Suppose prices of two goods are Re. | each. A consumer consumes 50 of x and

50 of y. What happens to his utility in following two ‘cases if price of good x -

PR

increases to Rs. 2 and he gets additional income of : 7
(@) Rs. 50
() Rs. 45
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What is hedging ? Why may a corporate house prefer to share investment with others
in a risky project even when it has sufficient capital for the entire investment ? 8
A consumer is initially a lender. Interest rate increases : ' : 7
(¢) Wil he remain a lender necessarily ?

(b))  What happéns to his utility ?

(¢)  What happens to his current consumption ? o
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Part B

(W ‘)
A ﬁrm faces production funcﬁon g = KOS L 3
()  Find out conditional input demand functiors.
(b))  Find out long run cost funétion
() At what quantity is the average total cost minimized ?

(d)  In the short run, capitél cannot be éhanged and is equal to 25. What will be
the cost of producing 25 units, if ‘the rental cost of capital is 20 and thg wages

is 52 , .9
P.T.O.
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There are 100 competitive firms with individual cost function, C = 0.25 ¢°. Market

demand éurve is given by Q = 1000 — 300p : _ 6

(@) Find out competitive equilibrium price.

()  Find out profit of a firm.
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Fmd out long run <ost functlons for Q = min {l k} and Q = /1. 5

" Define homothetic production function. Check if the following functions are

- homothetic : | : 5
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Explain why the demand cuﬁ'e for labour is necessarilv downward "sioping ? 5.
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(a)" g=1l+ \/‘

(b) g= 10+l“ p1-
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Productlon function i is gwen as y N/ + JE | R S 5
(@) . Find out demand fu;}cfi(;ﬁ for “labour‘.t

()  Find out short run and long run profit functions. o

A production function is given by Q = ALK~ %, where 0 <a<1: 5

(@) Find out its;e_lasticil;y of substitution

()  Comment on returns to saale and homoocnelty of averds,e productml) and

malg,mal productmty of labour
The short run cost function is :
C*(y, w, r, k) = i"}ger rk.

Find out long run cost function. | - o 5
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